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Total area: 5.25 cm? + 7 cm? = 12.25 em?
Rubric

1 point for area;

2 points for reasonable work

‘Area of rapezoid:

1 1
A=OB+4)=5(3)(12)=18in

The correct area of the front of the
birdhouse is 4 in® + 4 in” + 8 in® + 18 in” +
2in*=36n”

Rubric

2 points for identifying error; 1 point for
correct areas of rectangle and trapezoid;
1 point for correct area
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6.G.1
SELECTED RESPONSE 3. What is the area of this shape?
Select the correct answer. 6in
1. What is the area of the triangle below?
d
20
25em @® 48in? © 144in?

® 5625 o (B 96in* (D) 288 in*

(® 10,0375 e’ 4. What s the area of the following

© 1125 o thombus? o

(D> 21.875 cm®

2. Whatis the area of the triangle in the
figure below?
6mm
Jomm 14em
12mm
@ 76 cm® © 336 cm®
(B> 168 cm® (@ 672 cm®
CONSTRUCTED RESPONSE
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5. Draw a rectangle using this triangle and
an exact copy of it. What is the area of

2
@® 12 mm the resulting rectangle?
(B 20 mm*
(© 36 mm*
(D> 60 mm*

3em

0em
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6. Find the area of the polygon below by
dividing it into two rectangles using one
vertical line. Show your work.

15em

15cm

35cm

Sem

7. Aregular octagon can be divided into
isosceles triangles. One triangle formed
from this division is shown, where the
base is 4 m and the approximate height is
483m.

8. Louis is building a birdhouse. He
sketches the front of the birdhouse, which
is shown below. The shaded region is a
rectangular opening with a base of 4 in.
and a height of 2 in. Louis divided the
front into a rectangle, two squares, a
trapezoid, and a triangle to find the area
of the front, not including the opening.

His work is shown below. What error
did Louis make? Correct the error
and find the actual area of the front
of the birdhouse.

1in.

3in.

2in. 2in

1in.

Area of each of the two squares:
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a. Using the figure above as a start,
finish dividing the octagon into
isosceles triangles. How many
triangles are there?

A=(2)2)=4in"
Area of rectangle:
A=(6)(1)=6in*
Area of trapezoid:

1 1 .
A=5O6+4)=5(N10)=15 in*
Area of triangle:

1 .
A= =20

‘The area of the front of the birdhouse is.
4in’+4in’+6in*+15in+2in* =31 in”

b. What s the approximate area of the
‘octagon? Show your work.
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6.G.1 Answers
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2.
3,
4,
5.

6.

B
A
c
B

3em

0em

The area of the rectangle is

(10)(3) =30 cm?.

15cm
15em
’ T5em

asem |
i
! 2em
|

Sem

Area of left rectangle:
A=(1.5)(3.5)=5.25 cm’

Area of right rectangle:
A=(5-15)35-15)=(3.5)(2) =7 cm?

483m

Q5
<

8 triangles are formed
b. The approximate area of one triangle
is %(4)(433):9.55 m?. There are
8 triangles, 5o the approximate area
of the octagon is 8(9.66) = 77.28 m”.
Rubric
. 1 point for drawing; 1 point of triangles
b. 1 point for answer; 1 point for work
8. Louis did not find the correct base of the
rectangle, which is also the bottom base
of the trapezoid. So, he incorrectly found
the areas of the rectangle and trapezoid.
The correct base of the rectangle is the
combined length of the two squares and
the shaded region:

2in.+2in.+4in.=8in
Area of rectangle:
A=(@®)(1)=8in*





